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= 8T - SA x 2 - (SLF + SLB + SRF + SRB ) = 21.600 - 0.031 x 2 - (0.788 + 0.375 + 0.788 + 0.375 ) = 19.212

S x 2=2.160 x 2 = 4.320

SAI x 2 =0.377 x 2 = 0.754

=Sb + Ss + Sa=19.212 + 4.320 + 0.754
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0 ck=24N/mm2

ST x H = 21.600 x 0.600 = 12.960

SA x H x 2=0.031 x 0.600 x 2 =0.037

(Vo) =Vt - Va = 12.960 - 0.037

AHBT

Eg

Sk HIEY

(St) = Sb + Sg + Sw + So = 31.389 + 23.720 + 25.532 + 24. 286
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0 ck=24N/mm2

(Vt) = Vb + Vg + Vw + Vo = 17.336 + 7.668 + 5.208 + 12.923
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XRIT

A THR= b+

XTI =81 x (L -0.500-1.050) =6.710 x ( 3.500 - 0.500 - 1.050 )

X#RI2 = (5200 x 4.250 - 0.350 x 0.200 / 2 x2 ) x 1.050 = 23.132

XRIT =XRI1 + XRIT2 =13.085 + 23.132

NI B3R A

w Al

E R

SxAHEY

Sf = SDF = 7.040 = 7.040

Se = SDBL + SDBR + SDBT = 0.250 + 0.250 + 0.530 = 1.030

Ss =88 x 2=7.500 x 2 =15.000

Si =LLI x L =7.266 x 3.000 = 21.798

BAC#8% = KAO + KAI = 3.000 + 3.166 = 6.166

BAOBA = OWT + IWT = 2.500 + 0.440 = 2.940

(Sb) = Sf + Se + Ss + Si - BAOFERR + BIOEBM = 7.040 + 1.030 + 15.000 + 21.798 - 6. 166 + 2.940
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B O iRRREE =KW x KH x 0.500 = 2.000 x 1.500 x 0.500 = 1.500

BB\ F = LTW x LTH / 2 x KW =0.200 x 0.200 / 2 x 2.000 = 0.040

(Vb) = SDF x L - BACRREREE - BAOERR/\VF = 7.040 x 3.000 - 1.500 - 0.040
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SDW = WL x_WH 0.500 x 3.100 = 1.550

SSW = ww x_WH 1.000 x 3.100 = 3.100

SSB =TW x BH = 5.300 x 0.700 = 3.710

(Sa) = ( (SDW + SSW x 2 + SSB) x 2) x ## = ( (1.550 +3.100 x 2 +3.710 ) x 2) x

1
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(Va) = (SDW x WW + SSB x WL ) x HE# = (1.550 x 1.000 + 3.710 x 0.500 ) x 1

HLaVERE

SDT= NTL x TH = 0.900 x 0.100 = 0.090

SDD= (NTL + NBL ) /2 x NH = ( 0.900 + 0.700) / 2 x 0.100 = 0.080

SST= SW x TH = 1.100 x 0.100 = 0.110

(Sb) = ( (SDT + SDD + SST x 2 ) x 2) x ## = ( (0.090 +0.080 + 0.110 x 2 ) x 2)

x 1
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o ck=18N/mm2

(Vb) = ((SDT x SW + SDD x AW) x HE# = (0.090 x 1.100 + 0.080 x 7.500 ) x 1

HEEEE

T8

NTL x SW x2=10.900 x 1.100 x 2
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AR SO K R (REEK) miethX AP —akEER (7/8)

FRARIEEIE R

HER

NIRAIEEE
# Al g & R

f= TEEER

SWL = (2.570 + 3.497 + 7.815 + 6.306) x 0.750 + 1.173 x 1.425 / 2 = 8.406

S HEEYD SDH = 1.061 x 0.400 = 0.424

(Sw) = (SWL x 2+ SDH) x 2= (8.406 x 2 +0.424) x 2

0 ck=24N/mm2 (Vw) = (SWL x WW) x 2 = 406 x 0.400 ) x 2

SSK = ( 3.497 + 4.053 + 6.306 + 6.306 + 1.173 + 1.067 ) x 0.450 / 2 = 5.040
S HEEYD SDF = 4.500 x 0.636 = 2.862
(8f) = SDF + SSK x 2 = 2.862 + 5.040 x 2

avyy—+
REast
i S HEEYD
avy)—+ o ck=24N/mm2

o ck=24N/mm2 (VF) = SSK x BW = 5.040 x 5.300

(St) = Sw + Sf = 34.472 + 12.942

(Vt) = Vw + Vf = 6.725 + 26.712

SSK = ( 3.558 + 6.306 + 1.067 ) x 0.100 + ( 0.100 + 0.250 ) x 0.150 / 2 = 1.119

HLaVERE
(8b) = SSK x 2 =1.119 x 2

avy)—+ o ck=18N/mm2

HEEE T® (3.558+6.306+1. 067) x 5. 500

D16 BHEERLY

D13 HHEERLY

B4t I LEEK t=20mm  [5.300 x 0.450 + 1.425 x 0.400

2000 1E KR

$42.7x2.3 NIEAIEEE
' oA BO® g & R

f= TEEER

(Vb) = SSK x FW =1.119 x 5.500

##5 (SD345)

CF 200x 5 4.900 + 1.650 x 2

SWR = (2.800 + 0.200 ) x 2.450 = 7.350

SWL = (2.400 + 0.543 ) x 2.450 = 7.210

S HEEYD SWJ = (0.600 + 0.400 ) x 2.450 = 2.450

SWU = 2.100 x 2.450 + 0.700 x 2.100 = 6. 615

(Sw) = SWR + SWL + SWJ + SWU x 2 = 7.350 + 7.210 + 2.450 + 6.615 x 2

SWH = 2.800 x 0.400 x 2 +0.700 x 0.200 + 0.543 x 0.400 / 2 = 2.489

0 ck=24N/mm2

(Vw) = SWH x 2.450 = 2.480 x 2.450

SSR = (12.800 + 0.200 ) x 0.400 = 1.200

HEBTITUH— SSL = ( 2.400 + 0.543 ) x 0.400 = 1.177
z SxAHREY
2 170250=4250 $8J = ( 0.600 + 4.500 + 0.400 ) x 0.400 + 4.500 x 0.350 = 3.775
4500 (8f) = SSR + SSL + S8J = 1.200 + 1.177 + 3.775
4900 SSH = ( 2.800 x 5.300 + 0.700 x 0.200 + 0.543 x 0.400 /2 ) = 15.089

o ck=24N/mm2 SDU = 4.500 x 0.700 = 3.150

(VF) = SSH x TH + SDU x 0.350 = 15.089 x 0.400 + 3.150 x 0. 350

HEHEEY (8t) = Sw + Sf = 30.240 + 6.152
o ck=24N/mm2

(Vt) = Vw + Vf = 6.076 + 7.138

ﬁ“ E §=1:20 A'E.‘B Ei%ﬂi $=1:10

H—FR4 T
PZ-A3-8C

SBR = (2.900 + 0.200 ) x 0.100 = 0.310

SBL = ( 2.300 + 0.543 ) x 0.100 = 0.284
HLaVERE

SBJ = ( 0.600 + 4.500 + 0.400 ) x 0.100 = 0. 550

$60.5x3.2 (Sb) = SBR + SBL + SBJ = 0.310 + 0. 284 + 0.550

SBH = ( 2.900 x 5.500 + 0.700 x 0.200 + 0.543 x 0.400 / 2 ) = 16.199

avy)—+ 0o ck=18N/mm2

(Vb) = SBH x TH = 16.199 x 0.100
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HEEEE T8
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##5 (SD345) D16 HHEERLY
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JLFEAK t=20mm 5300 x 0.400 + 2.450 x 0.400 x 2

SBH = 16.199
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7 v H—#D13
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o ckeoamz N

A

(12.850 x 2.800 + 2.450 x 2.100 + 2.100 x 0.700 ) x 2

200 279

CF 200% 5
ZREE 4.900 x 1.000 x 170

4.900 + 2.650 x 2
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o ck=18N/mm2
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B B M (RC-40)

EiR3 9 1) — FRFER

BRI > — FEBHER

&S aill b cill

N

5.19 1.70

5.8950

1.51 5.26

5.9800

5.26 7.14

10.2250

7.59 8.05

9.1550

XEREHE (AOCOAR] (L YEHH
%S= (a+b+c) /2
XEH =/ (S(S-a) (S-b) (§-¢)}

— 7

IR HEY

2.40% (1.697+7.588) +2.799 % (1.74+7.632+1.896+7. 787) x1/2+ (0. 40+1.84) x 2.40x 1/2x 24+0. 30 x 4y (1+0.5"(2))
x (2.899+2. 824) x 1/2
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o ck=18N/mm2

{0.40x2.40 x (1.697+7.588+1.74+7.632) +1.44x 2.40x1/2x (1.74+7.632+1.896+7. 787) +0. 40 x 0. 30 x (2. 824
+2.674)+0.15%x0.30x 1/2 x (2.824+2.899)} x1/2

HEEM  RC-40

t=200mm

1.94x (1.697+7.588+1.896+7.787) x1/2

HEEEE

T8

1.94% (1.697+7.588+1.896+7.787) x1/2
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JEhR &R
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Efa >y — bERHERLY
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